

Apartment in Qormi



Qormi, Central



€281,000

Reference No: 240461048-294

 Total Rooms: 6

 Floor Area (m²) : 90

 Bathrooms: 2

 Bedrooms: 2

Apartment - For Sale - Qormi

QORMI - APARTMENT - Located in a brand-new modern block with lift access, this apartment features a spacious open-plan kitchen, living, and dining area. It is available in layouts offering 1, 2, or 3 large double bedrooms, with the main bedroom enjoying the comfort of an en-suite. Currently under construction, the property will be sold highly finished, excluding internal doors and bathrooms. Freehold. Contact your preferred agent for more information.

Features

Rooms

- ✓ Kitchen/Dining : 4 x 7.96 m (31.84 m²)
- ✓ Double Bedroom : 3.79 x 3.32 m (12.58 m²)
- ✓ Double Bedroom : 3.32 x 3.55 m (11.79 m²)
- ✓ Bathroom Ensuite : 1.66 x 1.63 m (2.71 m²)
- ✓ Bathroom : 2.63 x 1.66 m (4.37 m²)
- ✓ Laundry : 1 x 1 m (1 m²)
- ✓ Open Space : 4 x 2 m (8 m²)

Gallery





Josianne Camilleri

RE/MAX Professionals - Mosta

M: 79050767

E: jcamilleri@remax.com.mt

T: 22265300

RE/MAX Professionals - Mosta

24, Vjal L-Indipendenza, Mosta, Malta